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valign.lua (0]

HWLSGE

9 /i- KozGoPr6N-Medium.otf, jfm=ujis, yjabaselineshift=0pt
w 5 ‘;E KozGoPr6N-Medium.otf, jfm=jis, yjabaselineshift=0.7563636pt
E\ 9 ‘ ;i KozGoPr6N-Medium.otf, jfm=jis, yjabaselineshift=0pt
m 5 ‘5¥ ipaexg.ttf, jfm=ujis, yjabaselineshift=0pt

am 5 ‘5% ipaexg.ttf, jfm=jis, yjabaselineshift=0.7563636pt

m 5 ’5¥ ipaexg.ttf, jim=jis, yjabaselineshift=0pt

m 5 ‘;E hgrgm.tte, jfm=ujis, yjabaselineshift=0pt

m 5 ‘;E hgrgm.tte, jfm=jis, yjabaselineshift=0pt

FRGK 3
j /%- hgrgm.tte, jfm=jis, yjabaselineshift=0.7563636pt
~ Seed=

HOoCE

: KozGoPr6N-Medium.otf, jfm=test2, yjabaselineshift=0pt

. ipaexg.ttf, jfm=test2, yjabaselineshift=0pt

: hgrgm.ttc, jfm=test2, yjabaselineshift=0pt
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Dl@ 9 ‘/i KozGoPr6N-Medium.otf, jfm=ujis, yjabaselineshift=0pt

D—L— : KozGoPr6N-Medium.otf, jfm=jis, yjabaselineshift=0.7563636pt

E\ 9 ‘ ;¥ KozGoPr6N-Medium.otf, jfm=jis, yjabaselineshift=0pt
M 5 ‘5% ipaexg.ttf, jfm=ujis, yjabaselineshift=0pt
m 5 ‘5% ipaexg.ttf, jfm=jis, yjabaselineshift=0.7563636pt
m 5 ‘5% ipaexg.ttf, jfm=jis, yjabaselineshift=0pt
m 5 ‘;E hgrgm.tte, jfm=ujis, yjabaselineshift=0pt
m 5 ‘;E hgrgm.tte, jfm=jis, yjabaselineshift=0pt
m 5 ‘ 5-!% hgrgm.ttc, jfm=jis, yjabaselineshift=0.7563636pt
% = N

BH 9 ‘/is KozGoPr6N-Medium.otf, jfm=test2, yjabaselineshift=0pt
%H 5 ‘5% ipaexg.ttf, jfm=test2, yjabaselineshift=0pt

= =
A Y
55 b 2 ‘ /%: hgrgm.ttc, jfm=test2, yjabaselineshift=0pt



